BRERIZEARKIO YA EEEAHI8])

5610 FERE [REREE [ SAEE | 2010 |AEZmama] 1973

/‘\"714:&(—“/1773) R 128 FAIBA DT, i akis [T miR [ 10a
i MREZLIEFo: FIE(Ghagl &) OXKBAEFKIFE(0haLIE) OZDfh( )

TEZEH
D¥ﬁ£ﬂ? ;%%l/\» WEBELAL

HﬁTE‘iﬁF’

XOBZHEMBETHEEEZRETEAGEF. EX.RE. ERELGLEADOELAFHETHLAL ZARERZOMICHRL TSN,

5@

BRFZE: 2 A ERAFEH A ERHHEHEELL) A

A5 57 B RS (10adp7=Y)

B 18 2H 3H 4H 5H 64 7H 8H 9H 108 118 128 &t
{Iﬁg% (o[ E[ [T E[F [T E[P[ Tl E[R[ Tl E[ [T L[] T E[B[ T E[F[ T E][P[T|E[R[F|E[R[F]| °

HEHE 30 30

HiE. Bt o 10

B ST T - Bt 3.0 3.0

tEZ DIt 30 3.0

iniE 10.0 10.0

H SR 2 40 4.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

‘S‘ é 0.0ﬂ 00)o00)o0o|00f00O|0OO|0OO|OO|O0O|O00]|140|00f00|00]|00|00f00|00]|00|00f[00|00|00|00f[00]|]00]00|00|fO00fO00]00]00]0.0](100 24.0

XFH WL, AR AHDOATHA,

L& E 3
rSO5— HEABERA M. B

S EHAR RIS
A [ [ [ [ [ [ [ [ [ OF [ 1B | T8 | p=
) LIEPI'FILIEPI'FILIEPI'FILIEPI'FILIEPI'FILIEPI'FILIEFI'FILIEPI'FILIEPI'FILIEPI'FILIEPI'FILIEPI'F =5
A
O:EHE
EfHAR | | vV | m:ARFE
Bz ol
IR S (kg/10a) 500 500
B {fi(H/kg) 200 200
£%8(M/10a) 0 0 0 0 100,000 0 0 0 0 0 0 0] 100,000
BIEW(E/10a 0
£ -I 100,000
SEHE0aH-Y) S EEH0adH-Y)
e BE ] ERER 8 e Ei] BE 28
R 6,533
At 4,073 |t 6,533
@B E(10ad1=Y)
24 EAEGke B i3 HRmE EX S XILWFEHH(0adt=Y)
E FHE HR5cRE =8
SaT 535
SEHEYEE(10adkh1=Y)
) Hif BE Ea
St 2,505
XEEE={EFE x Bl
QT DhFEMFLE(10adh1-Y)
e fiEia) il %E FERER &%
it 3,443
S ZTDMDER
A 8
HRNE 757
&it 4,390 RIEH it 1,876
KEF=—BExBE-FREXK |t 2,633
SEEH0aH-Y)
X3 e 2] EE Bh= EE: ] OHEERE0abH=Y)
L] EX ]
[ 4,073
&t 0 EHE 2,505
ZDMEMH 4,390
QEN NS HKE(10adp1-Y) EEE 0
e fiti ] BE FERER 25 (B AREBKE 4,304
BfE 6,533
iiui&ﬂ 535
FEYEE 3,443
ZTOMDER 2,633
&t 28,416
&it 4,304 XEEBEIEHEOHTHE




